Reversible Speed Wrench

§373AM

= Ringstop function
= Open end and ratchet ring - wrench
» 5” gear action (72 teeth)

= Reversible

= Take-up: 13°

= Chrome vanadium alloy steel

= Chrome plated

0\
T —— é‘i\n
| L
e L 4
f"'
ze DI D2 HI H2

373A07M 7 167 166 46 65 140 12/384
373A08M 8 167 166 46 65 140 12/384
373A09M 9 188 184 49 69 150 12/384
373A10M 10 20.8 200 53 7.3 159 12/240
373A1TM 11 23.0 218 56 7.7 165 12/240
373A12M 12 250 227 60 82 172 12/240
373A13M 13 27.1 247 6.4 86 178 10/160
373A14M 14 292 270 6.8 9.0 191 10/160
373A15M 15 31.3 283 70 94 200 10/ 160
373A16M 16 334 300 7.2 99 208 10/60
373A17M 17 355 31.8 7.7 103 226 6/60
373A18M 18 37.6 326 82 10.7 237 6/60
373A19M 19 39.7 33.8 88 112 248 6/60
373A21M 21 46.0 400 9.0 13.0 290 6/54
373A22M 22 46,0 400 9.0 13.0 290 6/54
373A24M 24 522 460 10.0 145 323 6/54

Reversible Speed Wrench Set

KT NO. PC.
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KT No. & D1

Speed Wrench

37325

= Open end and ratchet ring - wrench
= 5° gear action (72 teeth)

= Reversible

= Take-up:13°

= Chrome vanadium alloy steel

= Chrome plated
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373210S 5/16 16.7 16.6 4.6 65 140 32 12/384
3732128 3/8 20.8 20.0 53 7.3 159 48 12/240
373214S 7/16 23.8 21.8 56 7.7 165 60 12/240
3732165 1/2 27.1 247 64 86 178 86 10/ 160
3732185 9/16 29.2 27.0 6.8 9.0 191 102 10/ 160
373220S 5/8 33.4 30.0 72 9.9 208 146 10/60
3732225 11/16 35.5 31.8 7.7 103 226 169 6/60
3732245 3/4 39.7 33.8 88 112 248 216 6/60
3732285 7/8 46.0 40.0 9.0 13.0 290 364 6/54
373230S 15/16 52.5 46.0 10.0 14.5 323 496 6/54
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8,10,11,12,13,17,19 091 1/24
097 1/16
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122A14MRN 14 8,9,10,11,12,13,14,15,16,17,18,19,22,24 250 1/12
122A12MRN 12 8,9,10,11,12,13,14,15,17,19,22,24 206 1/8
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12207SRN 7 3/8.7/16,1/2,9/16,5/8,11/16, 3/4 091 1/24
37328 8.7/ /2.9 / / / / » Tetoron pouch bag
| 132A13MR

Blow case size (mm) :
303 x 228 x 50 (1.35 Cuft)
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